

ON NEIGHBORHOODS OF STRONGLY STARLIKE FUNCTIONS OF ORDER α AND TYPE β WITH RESPECT TO SYMMETRIC POINTS

BY

H. A. AL-KHARSANI AND R. A. AL-KHAL

Abstract

In this paper we introduce a class of strongly starlike functions of order α and type β with respect to symmetric points and investigate the neighborhoods and coefficients bounds of such functions.

1. Introduction

Let $H(D)$ denote the class of all functions f holomorphic in the open unit disc D in C and A be the class of all functions $f \in H(D)$ with the normalizations $f(0) = 0$ and $f'(0) = 1$. Any $f \in A$ is said to be strongly starlike of order α , $0 < \alpha \leq 1$ if it satisfies

$$\left| \operatorname{Arg} \frac{zf'(z)}{f(z)} \right| < \frac{\pi\alpha}{2}, \quad z \in D.$$

This class $S^*(\alpha)$ of strongly starlike functions of order α was introduced by D.A. Brannan and W. E. Kirwan [2] and independently by J. Stankiewicz [8].

In this paper we introduce a class of strongly starlike functions of order α and type β with respect to symmetric points. We investigate some interesting

Received December 19, 2005 and in revised form March 31, 2006.

AMS Subject Classification: 30C45, 30C50.

Key words and phrases: Strongly starlike with respect to symmetric points, strongly convex with respect to symmetric points.

properties of this class, e.g., the neighborhoods of such functions, coefficients bounds, and the criteria for a function to be in this class.

Definition 1.1. Let $f \in A$. For $0 < \alpha \leq 1$ and $0 \leq \beta < 1$ in D , f is said to be in the class $\overline{S}_{\alpha,\beta}^*$ of strongly starlike functions of order α and type β with respect to symmetric points if

$$\left| \arg \left(\frac{2zf'(z)}{f(z) - f(-z)} - \beta \right) \right| < \frac{\alpha\pi}{2} \text{ in } D.$$

Clearly, $\overline{S}_{s,0}^*(\alpha) = \overline{S}_s^*(\alpha)$ the class of all strongly starlike functions of order α with respect to symmetric points which was introduced by R. Parvatham and M. Premabai [4].

Also, $\overline{S}_{s,0}^*(1) = S_s^*$ the class of all starlike functions with respect to symmetric points which was introduced by K. Sakaguchi [7].

$f \in \overline{S}_{s,\beta}^*(\alpha)$ means that the image of D under $\left(\frac{2zf'(z)}{f(z) - f(-z)} - \beta \right)$ lies in the region Ω defined by

$$\Omega = \left\{ z \in C : |\arg z| < \frac{\alpha\pi}{2}, \quad 0 < \alpha \leq 1 \right\}.$$

Equivalently, $f \in \overline{S}_{s,\beta}^*(\alpha)$ if and only if

$$\frac{2zf'(z)}{f(z) - f(-z)} \neq \beta + te^{i\alpha\pi/2}, \quad t \in R^+.$$

Or $f \in \overline{S}_{s,\beta}^*(\alpha)$ if and only if

$$\frac{2zf'(z)}{f(z) - f(-z)} = (1 - \beta)p(z)^\alpha + \beta,$$

where $p \in P$, the class of all functions $p(z)$ analytic in D for which $\operatorname{Re}\{p(z)\} > 0$ and $p(z) = 1 + c_1z + c_2z^2 + \dots$, $0 < \alpha \leq 1$, $0 \leq \beta < 1$.

Definition 1.2. Any $f \in A$ is said to be strongly convex of order α and type β with respect to symmetric points in D if $\forall z \in D$, $\left| \arg \left(\frac{2(zf'(z))'}{(f(z) - f(-z))'} - \beta \right) \right| < \frac{\alpha\pi}{2}$, $0 < \alpha \leq 1$, $0 \leq \beta < 1$. Let $\overline{K}_{s,\beta}(\alpha)$ be

the class of all strongly convex functions of order α and type β with respect to symmetric points.

Note. $\overline{K}_{s,0}(\alpha) = K_s(\alpha)$ —the class of all strongly convex functions of order α with respect to symmetric points which was introduced by R. Parvatham and M. Premabai [4].

Also, $\overline{K}_{s,0}(1) = K_s$ —the class of convex functions with respect to symmetric points which was introduced by R.N. Das and P. Singh [3].

The relation between the classes $\overline{S}_{s,\beta}(\alpha)$ and $\overline{K}_{s,\beta}(\alpha)$ is given as

$$f \in \overline{K}_{s,\beta}(\alpha) \Leftrightarrow zf'(z) \in \overline{S}_{s,\beta}^*(\alpha).$$

Any $f \in A$ has the Taylor’s expansion $f(z) = z + a_2z^2 + a_3z^3 + \dots$ in D .

2. Main Results

In order to derive our first result for the coefficients bounds of the class $\overline{S}_{s,\beta}^*(\alpha)$, we need the following lemma due to Pommerenke [1].

Lemma 2.1. *If $p(z) = 1 + c_1z + c_2z^2 + \dots \in P$, then*

$$|c_k| \leq 2. \tag{1}$$

Theorem 2.1. *Let $f(z) = z + \sum_{k=2}^{\infty} a_kz^k$ belong to $\overline{S}_{s,\beta}^*(\alpha)$ ($0 < \alpha \leq 1, 0 \leq \beta < 1$). Then*

$$\begin{aligned} |a_2| &\leq \alpha(1 - \beta) \\ |a_3| &\leq \alpha^2(1 - \beta). \end{aligned}$$

The result is sharp.

Proof. For $f(z) \in \overline{S}_{s,\beta}^*(\alpha)$, there is $p(z) \in P$ such that

$$\frac{2zf'(z)}{f(z) - f(-z)} = (1 - \beta)p(z)^\alpha + \beta.$$

Assume that $p(z) = 1 + p_1z + p_2z^2 + \dots$. Then direct calculation gives us

$$2a_2 = \alpha(1 - \beta)p_1$$

and

$$2a_3 = \alpha(1 - \beta)p_2 + \frac{\alpha(\alpha - 1)}{2}(1 - \beta)p_1^2. \tag{2}$$

By using Lemma 2.1, we get that

$$\begin{aligned} |a_2| &\leq \alpha(1 - \beta) \\ |a_3| &\leq \alpha^2(1 - \beta); \end{aligned}$$

For a_2 , equality holds if and only if

$$\frac{2zf'(z)}{f(z) - f(-z)} = (1 - \beta) \left(\frac{1 + \epsilon z}{1 - \epsilon z} \right)^\alpha + \beta, \quad |\epsilon| = 1,$$

and for a_3 , equality holds if and only if

$$\frac{2zf'(z)}{f(z) - f(-z)} = (1 - \beta) \left(\frac{1 + \epsilon z^2}{1 - \epsilon z^2} \right)^\alpha + \beta, \quad |\epsilon| = 1.$$

This completes our proof. □

Now, let us see a characterization formula for f to be in $\overline{S}_{s,\beta}^*(\alpha)$ by means of convolution. For this, we need to define convolution of $f(z) = z + \sum_{k=2}^\infty a_k z^k$

and $g(z) = z + \sum_{k=2}^\infty b_k z^k$ as $(f * g)(z) = z + \sum_{k=2}^\infty a_k b_k z^k$.

Definition 2.1. Let $S_{s,\beta}^{*\prime}(\alpha)$ be the class of all functions $h(z)$ such that

$$h(z) = \frac{f_2(z) - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)f_3(z)}{1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)}; \quad t \in R^+,$$

where $f_2(z) = \frac{z}{(1 - z)^2}$ and $f_3(z) = \frac{z}{1 - z^2}$.

Clearly, $f(z) = f(z) * f_1(z)$, $zf'(z) = f(z) * f_2(z)$ and $\frac{f(z) - f(-z)}{2} = f(z) * f_3(z)$, where $f_1(z) = \frac{z}{1 - z}$, $f_2(z) = \frac{z}{(1 - z)^2}$ and $f_3(z) = \frac{z}{1 - z^2}$.

Note that $S_{s,0}^{*'}(\alpha) = S_s^{*'}(\alpha)$ – the class which was introduced by R. Parvatham and M. Premabai [4].

The characterization formula for f to be in $\overline{S}_{s,\beta}^*$ (α) is given in the following theorem

Theorem 2.2. $f \in \overline{S}_{s,\beta}^*(\alpha)$ if and only if $\forall H \in S_{s,\beta}^{*'}(\alpha)$ and $\forall z \in D$, $\frac{(f * H)(z)}{z} \neq 0$.

Proof. Let us first assume that for $f \in A$, $\frac{(f * H)(z)}{z} \neq 0 \ \forall H \in S_{s,\beta}^{*'}(\alpha)$ and $\forall z \in D$.

From the definition of $H(z)$, it follows that

$$\begin{aligned} \frac{(f * H)(z)}{z} &= \frac{(f * f_2)(z) - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)(f * f_3)(z)}{[1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)]z} \\ &= \frac{zf'(z) - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)\left(\frac{f(z)-f(-z)}{2}\right)}{[1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)]z} \neq 0, \quad t \in R^+. \end{aligned}$$

Equivalently, $\frac{2zf'(z)}{f(z) - f(-z)} \neq te^{\pm i\alpha\frac{\pi}{2}} + \beta, \quad t \in R^+$; or $\frac{2zf'(z)}{f(z) - f(-z)} - \beta \neq te^{\pm i\alpha\frac{\pi}{2}}, t \in R^+$. As $t \in R^+$, $te^{\pm i\alpha\frac{\pi}{2}}$ covers the half lines $|\arg \omega| = \frac{\alpha\pi}{2}$ and $\frac{1}{1 - \beta} \left(\frac{2zf'(z)}{f(z) - f(-z)} - \beta \right) = 1$ at $z = 0$. Hence

$$\frac{2zf'(z)}{f(z) - f(-z)} - \beta \in \Omega = \left\{ z \in C : |\arg z| < \frac{\alpha\pi}{2} \right\};$$

or $f \in \overline{S}_{s,\beta}^*(\alpha)$.

Conversely, let $f \in \overline{S}_{s,\beta}^*(\alpha)$. Then

$$\frac{2zf'(z)}{f(z) - f(-z)} - \beta \neq te^{\pm i\alpha\frac{\pi}{2}}. \tag{3}$$

Now,

$$\begin{aligned} \frac{(f * H)(z)}{z} &= \frac{(f * f_2)(z) - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)(f * f_3)(z)}{[1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)]z} \\ &= \left(\frac{2zf'(z)}{f(z) - f(-z)} - (te^{\pm i\alpha\frac{\pi}{2}} + \beta) \right) \cdot \frac{f(z) - f(-z)}{2z[1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)]}. \end{aligned}$$

(3) gives $\frac{(f * H)(z)}{z} \neq 0$ in D which completes the proof of the theorem. \square

The notion of δ -neighborhood was first introduced by St. Ruscheweyh [5].

Definition 2.2. For $\delta \geq 0$, the δ -neighborhood of $f(z) = z + \sum_{k=2}^{\infty} a_k z^k \in A$ is defined by

$$N_{\delta}(f) = \left\{ g(z) = z + \sum_{k=2}^{\infty} b_k z^k; \sum_{k=2}^{\infty} k|a_k - b_k| \leq \delta \right\}.$$

To investigate the δ -neighborhoods of functions belonging to the class $\overline{S}_{s,\beta}^*(\alpha)$, we need the following lemmas:

Lemma 2.2. Let $H(z) = z + \sum_{n=2}^{\infty} h_n z^n \in S_{s,\beta}^{*\prime}(\alpha)$. Then $|h_n| < \frac{\sqrt{(n - \beta)^2 + 2\beta}}{(1 - \beta) \sin \frac{\alpha\pi}{2}}$ for $n = 2, 3, \dots$

Proof. Since $H(z) \in S_{s,\beta}^{*\prime}(\alpha)$, we have

$$\begin{aligned} H(z) &= \frac{1}{1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)} \left[\frac{z}{(1 - z)^2} - (te^{\pm i\alpha\frac{\pi}{2}} + \beta) \frac{z}{1 - z^2} \right] \\ &= \frac{1}{1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)} [(z + 2z^2 + 3z^3 + \dots + nz^n + \dots) \\ &\quad - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)(z + z^3 + z^5 + \dots + z^{2n+1} + \dots)] \\ &= z + \sum_{n=2}^{\infty} h_n z^n. \end{aligned}$$

Then comparing the coefficients on either side, we get

$$h_n = \begin{cases} \frac{n}{1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)} & \text{when } n \text{ is even,} \\ \frac{n - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)}{1 - (te^{\pm i\alpha\frac{\pi}{2}} + \beta)} & \text{when } n \text{ is odd.} \end{cases}$$

Hence when n is odd,

$$\begin{aligned} |h_n|^2 &= \frac{[n - (\beta + t \cos \alpha\frac{\pi}{2})]^2 + t^2 \sin^2 \frac{\alpha\pi}{2}}{(1 - (\beta + t \cos \alpha\frac{\pi}{2}))^2 + t^2 \sin^2 \frac{\alpha\pi}{2}} \\ &= \frac{n^2 - 2n\beta + \beta^2 + 2(\beta - n)t \cos \frac{\alpha\pi}{2} + t^2}{1 - 2\beta + \beta^2 + 2(\beta - 1)t \cos \frac{\alpha\pi}{2} + t^2} \\ &= 1 + \frac{(n^2 - 1) - 2(n - 1)\beta - 2(n - 1)t \cos \frac{\alpha\pi}{2}}{1 - 2\beta + \beta^2 + 2(\beta - 1)t \cos \frac{\alpha\pi}{2} + t^2} \\ &= 1 + \frac{(n - 1) \{ (n + 1 - 2\beta) - 2t \cos \frac{\alpha\pi}{2} \}}{(1 - \beta)^2 + 2(\beta - 1)t \cos \frac{\alpha\pi}{2} + t^2} \\ &\leq 1 + \frac{(n - 1)(n + 1 - 2\beta)}{(1 - \beta)^2 + 2(\beta - 1)t \cos \frac{\alpha\pi}{2} + t^2} \\ &\leq \max_t \left\{ 1 + \frac{(n - 1)(n + 1 - 2\beta)}{(1 - \beta)^2 \left[1 - \frac{2t}{1 - \beta} \cos \frac{\alpha\pi}{2} + \left(\frac{t}{1 - \beta} \right)^2 \right]} \right\} \\ &= 1 + \frac{(n - 1)(n + 1 - 2\beta)}{(1 - \beta)^2 \sin^2 \frac{\alpha\pi}{2}} \quad \text{since } t \geq 0. \end{aligned}$$

Therefore

$$\begin{aligned} |h_n| &\leq \frac{\sqrt{n^2 - \cos^2 \frac{\alpha\pi}{2} + \beta^2 \sin^2 \frac{\alpha\pi}{2} - 2\beta (n - \cos^2 \frac{\alpha\pi}{2})}}{(1 - \beta) \sin \frac{\alpha\pi}{2}} \\ &< \frac{\sqrt{(n - \beta)^2 + 2\beta}}{(1 - \beta) \sin \frac{\alpha\pi}{2}}. \end{aligned} \quad \square$$

Lemma 2.3. For $f \in A$ and for every $\epsilon \in C$ such that $|\epsilon| < \delta$, if $F_\epsilon(z) = \frac{f(z) + \epsilon z}{1 + \epsilon} \in \overline{S}_{s,\beta}^*(\alpha)$, then for every $H \in S_{s,\beta}^{*\prime}(\alpha)$, $\left| \frac{(f * H)(z)}{z} \right| \geq \delta$, $z \in D$.

Proof. Let $F_\epsilon \in \overline{S}_{s,\beta}^*(\alpha)$. Then by Theorem 2.2, $\frac{(F_\epsilon * H)(z)}{z} \neq 0, \forall H \in S_{s,\beta}'(\alpha), z \in D$. Equivalently, $\frac{(f * H)(z) + \epsilon z}{(1 + \epsilon)z} \neq 0$ in D or $\frac{(f * H)(z)}{z} \neq -\epsilon$ which shows that $\left| \frac{(f * H)(z)}{z} \right| \geq \delta$. □

Theorem 2.3. For $f \in A$ and $\epsilon \in C, |\epsilon| < \delta < 1$ assume $F_\epsilon(z) \in \overline{S}_{s,\beta}^*(\alpha)$. Then

$$N_{\delta(1-\beta) \sin \frac{\alpha\pi}{2}}(f) \subset \overline{S}_{s,\beta}^*(\alpha).$$

Proof. Let $H(z) \in S_{s,\beta}'(\alpha)$ and $g(z) = z + \sum_{k=2}^\infty b_k z^k$ is in $N_\delta(f)$. Then

$$\begin{aligned} \left| \frac{(g * H)(z)}{z} \right| &= \left| \frac{(f * H)(z)}{z} + \frac{((g - f) * H)(z)}{z} \right| \\ &\geq \left| \frac{(f * H)(z)}{z} \right| - \left| \frac{((g - f) * H)(z)}{z} \right| \\ &\geq \delta - \left| \sum_{k=2}^\infty \frac{(b_k - a_k)h_k z^k}{z} \right| \quad \text{by Lemma 2.3.} \end{aligned}$$

Thus

$$\begin{aligned} \left| \frac{(g * H)(z)}{z} \right| &\geq \delta - |z| \sum_{k=2}^\infty |h_k| |b_k - a_k| \\ &> \delta - \frac{1}{(1 - \beta) \sin \frac{\alpha\pi}{2}} \sum_{k=2}^\infty \sqrt{(k - \beta)^2 + 2\beta} |b_k - a_k|. \end{aligned}$$

Since $g(z) \in N_\delta(f)$, therefore $g(z) \in N_{\delta'}(f)$ for all $\delta' > \delta$. Hence, we get

$$\left| \frac{(g * H)(z)}{z} \right| > \delta - \frac{\delta'}{(1 - \beta) \sin \frac{\alpha\pi}{2}} = 0, \quad \text{for } \delta' = \delta(1 - \beta) \sin \frac{\alpha\pi}{2}.$$

Thus $\frac{(g * H)(z)}{z} \neq 0$ in D for all $H \in S_{s,\beta}'(\alpha)$ which means by Theorem 2.2, $g \in \overline{S}_{s,\beta}^*(\alpha)$; in other words, $N_{\delta(1-\beta) \sin \frac{\alpha\pi}{2}}(f) \subset \overline{S}_{s,\beta}^*(\alpha)$. □

Next, we will show that the class $\overline{S}_{s,\beta}^*(\alpha)$ is closed under convolution with functions f which are convex univalent in D , that is, $(f * g)(z) \in \overline{S}_{s,\beta}^*(\alpha)$

whenever $f \in K$ and $g \in \overline{S}_{s,\beta}^*(\alpha)$. For this we shall need the following lemmas:

Lemma 2.4. *If $g \in \overline{S}_{s,\beta}^*(\alpha)$, then $G(z) = \frac{g(z) - g(-z)}{z} \in S^*$.*

Proof. Since $g \in \overline{S}_{s,\beta}^*(\alpha)$, therefore

$$\left| \arg \frac{2zg'(z)}{g(z) - g(-z)} - \beta \right| < \frac{\alpha\pi}{2} \text{ in } D$$

or $\left(\frac{2zg'(z)}{g(z) - g(-z)} - \beta \right)$ lies in the convex region

$$\Omega = \left\{ z \in C : |\arg z| < \frac{\alpha\pi}{2}, \quad 0 < \alpha \leq 1 \right\}.$$

Hence

$$\frac{zG'(z)}{G(z)} = \frac{zg'(z)}{2G(z)} + \frac{(-z)g'(-z)}{2G(-z)}.$$

There exists ξ_0, ξ_1 in Ω such that

$$\frac{zG'(z)}{G(z)} = \xi_0 + \xi_1 = \xi_2$$

for some $\xi_2 \in \Omega$ since Ω is the convex sector. Thus $G \in \overline{S}^*(\alpha) \subset S^*$. □

Lemma 2.5. ([6]) *If ϕ is a convex univalent function with $\phi(0) = 0 = \phi'(0) - 1$ in D and g is starlike univalent in D , then for each analytic function F in D , the image of D under $\frac{(\phi * Fg)(z)}{(\phi * g)(z)}$ is a subset of the convex hull of $F(D)$.*

Theorem 2.4. *Let $\phi(z) \in K$, $f(z) \in \overline{S}_{s,\beta}^*(\alpha)$. Then $(\phi * f)(z) \in \overline{S}_{s,\beta}^*(\alpha)$.*

Proof. Assume $G(z) = \frac{1}{1-\beta} \left\{ \frac{2zf'(z)}{f(z) - f(-z)} - \beta \right\}$. Then for $F(z) = (\phi * f)(z)$, we have

$$2zF'(z) = \phi * 2zf'(z).$$

Hence

$$\frac{1}{1-\beta} \left[\frac{2zF'(z)}{F(z)-F(-z)} - \beta \right] = \frac{\phi * G(f(z) - f(-z))}{\phi * (f(z) - f(-z))}.$$

By Lemma 2.5, the image of D under $\frac{\phi * G(f(z) - f(-z))}{\phi * (f(z) - f(-z))}$ is a subset of the convex hull of $G(D)$. Then $G(D) \subset \Omega = \left\{ \omega : |\arg \omega| < \frac{\alpha\pi}{2} \right\}$ and hence $\frac{1}{1-\beta} \left[\frac{2zF'(z)}{F(z)-F(-z)} - \beta \right]$ lies in Ω which means $(\phi * f)(z) \in \overline{S}_{s,\beta}^*(\alpha)$. \square

Theorem 2.5. *If $f \in \overline{K}_{s,\beta}(\alpha)$, then $\frac{f(z) + \epsilon z}{1 + \epsilon} \in \overline{S}_{s,\beta}^*(\alpha)$ for $|\epsilon| < \frac{1}{4}$.*

Proof. Let $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$. Then

$$\begin{aligned} \frac{f(z) + \epsilon z}{1 + \epsilon} &= \frac{z(1 + \epsilon) + \sum_{k=2}^{\infty} a_k z^k}{1 + \epsilon} \\ &= \frac{f(z) * \left\{ z(1 + \epsilon) + \sum_{k=2}^{\infty} z^k \right\}}{1 + \epsilon} \\ &= f(z) * \frac{\left(z - \frac{\epsilon}{1+\epsilon} z^2 \right)}{1 - z} = f(z) * h(z), \end{aligned}$$

where $h(z) = \frac{z - \frac{\epsilon}{1+\epsilon} z^2}{1 - z}$. Now,

$$\begin{aligned} \frac{zh'(z)}{h(z)} &= \frac{z - \frac{2\epsilon}{1+\epsilon} z^2}{z - \frac{\epsilon}{1+\epsilon} z^2} + \frac{z}{1 - z} \\ &= \frac{-\rho z}{1 - \rho z} + \frac{1}{1 - z}, \text{ where } \rho = \frac{\epsilon}{1 + \epsilon}. \end{aligned}$$

Hence $|\rho| < \frac{|\epsilon|}{1 - |\epsilon|} < \frac{1}{3}$ gives $|\epsilon| < \frac{1}{4}$. Thus

$$\operatorname{Re} \left(\frac{zh'(z)}{h(z)} \right) \geq \frac{1 - 2|\rho| |z| - |\rho| |z|^2}{(1 - |\rho| |z|)(1 + |z|)} > 0$$

if $|\rho| (|z|^2 + 2|z|) - 1 < 0$. This inequality holds for all $\rho < \frac{1}{3}$ and $|z| < 1$,

which is true for $|\epsilon| < \frac{1}{4}$. Therefore h is starlike in D and so

$$\int_0^z \frac{h(t)}{t} dt = z + \sum_{k=2}^{\infty} \frac{h_k z^k}{k} = h(z) * \log\left(\frac{1}{1-z}\right)$$

is convex for $|\epsilon| < \frac{1}{4}$

$$\begin{aligned} (f * h)(z) &= (h * f)(z) = \left[h(z) * \left(z f'(z) * \log\left(\frac{1}{1-z}\right) \right) \right] \\ &= z f'(z) * \left[h(z) * \log\left(\frac{1}{1-z}\right) \right] \end{aligned}$$

$$f(z) \in \overline{K}_{s,\beta}(\alpha) \Rightarrow z f'(z) \in \overline{S}_{s,\beta}^*(\alpha) \text{ and } h(z) * \log\left(\frac{1}{1-z}\right) \in K.$$

Now, by Theorem 2.4, we have

$$z f'(z) * \left[h(z) * \log\left(\frac{1}{1-z}\right) \right] \in \overline{S}_{s,\beta}^*(\alpha).$$

Thus

$$(f * h)(z) = \frac{f(z) + \epsilon z}{1 + \epsilon} \in \overline{S}_{s,\beta}^*(\alpha). \quad \square$$

Theorem 2.6. Let $f \in \overline{K}_{s,\beta}(\alpha)$. Then

$$N_{\frac{1}{4}(1-\beta) \sin \frac{\alpha\pi}{2}}(f) \subset \overline{S}_{s,\beta}^*(\alpha).$$

Proof. Let $f \in \overline{K}_{s,\beta}(\alpha)$. Then from Theorem 2.5, we have $\frac{f(z) + \epsilon}{1 + \epsilon} \in \overline{S}_{s,\beta}^*(\alpha)$ for $|\epsilon| < \frac{1}{4}$. Then an application of Theorem 2.3 gives

$$N_{\frac{1}{4}(1-\beta) \sin \frac{\alpha\pi}{2}}(f) \subset \overline{S}_{s,\beta}^*(\alpha). \quad \square$$

References

1. C. Pommerenke, Univalent functions, *Vandenhoeck and Ruprecht*, Göttingen, 1975.

2. D. A. Brannan and W. E. Kirwan, On some classes of bounded univalent functions, *J. London Math. Soc.*, **2**(1969), 431-443.
3. R. N. Das and P. Singh, On subclasses of Schlicht mapping, *Indian J. Pure Appl. Math.*, **8**(1977), 864-872.
4. R. Parvatham and M. Premabai, On neighborhoods of strongly starlike functions with respect to symmetric points, *Zesz. Nauk. Politech. Rzesz.*, **19**(1996), 93-100.
5. St. Ruscheweyh, Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, **81**(1981), 521-527.
6. St. Ruscheweyh and T. Sheil-Small, Hadamard products of Schlicht functions and the Polya-Schoenberg conjecture, *Comm. Math. Helv.*, **48**(1973), 119-135.
7. K. Sakaguchi, On a certain univalent mapping, *J. Math. Soc. Japan.*, **11**(1959), 72-75.
8. J. Stankiewicz, Quelques problèmes extrémaux les classes des fonctions α -angulairement étoilées, *Ann. Univ. Mariae Curie-Sfodowska, Sect. A.*, **20**(1966), 59-75.

Department of Mathematics, Faculty of Science, Girls College, P.O. Box 838, Dammam, Saudi Arabia.

E-mail: hakh73@hotmail.com

Department of Mathematics, Faculty of Science, Girls College, P.O. Box 838, Dammam, Saudi Arabia.

E-mail: ranaab@hotmail.com